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considerable yIRVALINOD
considerate B obh 5

(ex) He has considerable stress. (#71Z5 720 DA F L 2% 2 T %)
He is a considerate person. (% X/E 20 D& 5 A7)

iz X Bk
economic R DI F D
economical PR 72

(ex) economic theory (&7 B
an economical car (P& Y752 )

iz e P=AUS
successful Ih LT\ B
successive HigE L TW5B

(ex) She was successful in getting a job. (#2 ZcI Xtk IZ Rk Zh L 72)

It rained for five successive days. (5 H #ft CHIZ N~ 72)

TE2 50 FERUS
forgetful pSV AR ESA
forgettable SO TVWENLTH v

(ex) He is a forgetful person. (# 1L =5t~ 1EWV A TY)
(ex) It was a forgettable experience. (ZAUFEN T H L WVERERTZ - 72)
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regretful ANDFRED D

regrettable (€7 %N5 FNAN

(ex) He was very regretful. (#71Z & TH &M > TUz)
It is a very regrettable event. (Ziuix & THAE&RHKFEZ-72)

iz X Bk
industrial PEXEDITFED

industrious Eh 7

(ex) This is an industrial robot. (ZFUFFEEH 2R v FTF)
She is a very industrious student. ({ 2z (% & T4 L2 F4E7)

iz E=NS
imaginary BRZE D
imaginative BgAE
imaginable g TE s

(ex) This is an imaginary creature. (Z #UIXZRZEDE X ¥ T9)
He is an imaginative person. ({# | 3484 /18- 772 A\#72)
every imaginable method (5 2 51152 TDHik)

TE2 50 FERUS

literal XFEBY D
literary LFD

literate MHFEEDTED

(ex) literal translation (B :R)
a literary work CUZ2AES)

There are few literate people in the country.
(ZOEIITFRAFEEDOTEDABITL ALV



izt FERUS

respectful WEAZRLTND
respectable B SN TCWDNAIIRTH D
respective TnEhno

(ex) T am respectful to my mother. (FAIZ RS % 2445 L T\ %)
She comes from a respectable family. (1% 2 133 IR72FEED HEF 72)
Go to your respective seats. (ZNFINDFIZHE & /2 EWY)
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sensible SR D & % I 7
sensitive U2 RS ME D3 R
sensational NEE3 72

(ex) She made a sensible decision. (% Z 1 X B BH 72 E 21T > 72)
He is sensitive to the cold. (%32 Y T1)
It is a sensational crime. (ZFUZ ABRE72F0IR )

izt E=NS

valuable HHER
invaluable HEF AL D & 5
valueless AMAIE 73 JE

(ex) She got valuable information. ({f Zc 1331537t 8 & FIZALT)
The picture is invaluable. (& O LIEF IZMIED & 5)
The discovery is valueless. (& O % FLUZ I IAMHEIL 720 Y)



